John Curtin College of The Arts



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "QKRP" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY: Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a late fee of up to \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

BOARDERS: Please tick the Boarders box Online. In the Delivery Address box add the address of the City Beach Residential College and your orders will be delivered to the Boarding College.

If you choose the 'while you wait' service option, the closest retail service centre is in Caning Vale (25b Baile Rd, Canning Vale WA 6155). Please refer to the following page for trading hours.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

☑ Item Item Qty Unit Total No. Reqd Reqd Price \$Amount \$

YEAR EIGHT

Description

SCHOOL RESOURCES

Second hand books and uniforms can be purchased at the Second Hand Market Sale on Sunday 10 December 2023, 9:30am to 11:30am in the large quad.

BYOD

Office Use

All Year 8 students are required to have an iPad capable of running at least IOS 16. Devices with **at least 128 GB** of storage are strongly recommended. The college will not support other devices for this year-group. Details on recommended peripherals such as cases and keyboards can be found by visiting jc.wa.edu.au/help/byod-information/.

	BALLET - GIFTED & TALENTED					
P55108	Binder A4 2D Ring 50mm PP Insert White	1		1	7.20	7.20
	Retain White Binder from previous year.					
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	2		2	1.25	2.50
P50281	Document Envelope A4 PP With Press Stud Clear	3		1	1.25	1.25
	COMPUTER STUDIES					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	4		1	14.95	14.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	5		1	14.95	14.95
1 02000	USB FUCKEL FIASH DIIVE 32GB - INO RETURNS	5	ш	'	14.05	14.05
	DANCE - GIFTED & TALENTED					
P55108	Binder A4 2D Ring 50mm PP Insert White	6		1	7.20	7.20
	Retain White Binder from previous year.		_			
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	7		2	1.25	2.50
P50281	Document Envelope A4 PP With Press Stud Clear	8	$\overline{\Box}$	1	1.25	1.25
	DRAMA - GIFTED & TALENTED					
	Please supply the following: Bobby pins, Hair ties (matching hair color Blush (with brush) and Make up remover wipes.	ur), Brown eye	liner, Mas	scara, Foundatio	on, Neutral	lipstick,
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	9		2	1.25	2.50
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	10		1	2.15	2.15
P65066	Display Book A4 Fixed 40 Pocket Navy Blue	11		1	6.95	6.95
P50281	Document Envelope A4 PP With Press Stud Clear	12		1	1.25	1.25
P50859	Highlighters Pkt 6 Assorted	13		1	8.60	8.60
P01894	Medea and Other Plays (Penguin Classics) [Euripides]	14		1	17.99	17.99
P51511	Notebook A5 160 Page Spiral	15		1	8.05	8.05
P56258	Pencils-Coloured 24's Crayola	16		1	9.50	9.50
	ENGLISH					
P51137	Binder Wallet A4 Marbig	17		1	3.10	3.10
P65066	Display Book A4 Fixed 40 Pocket Navy Blue	18		1	6.95	6.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	19	$\overline{\Box}$	2	1.65	3.30
P50135	Highlighters Pkt 6 Micador	20	$\overline{\Box}$	1	5.45	5.45
P56334	Notes Stick on 75mm x 75mm - Yellow 654	21	$\overline{\Box}$	1	2.95	2.95
	ENGLISH - ENGAGE EXTEND ENRICH (EEE)					
P51137	Binder Wallet A4 Marbig	22		1	3.10	3.10
P65066	Display Book A4 Fixed 40 Pocket Navy Blue	23	=	1	6.95	6.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	24	=	2	1.65	3.30
P50135	Highlighters Pkt 6 Micador	25		1	5.45	5.45
P56334	Notes Stick on 75mm x 75mm - Yellow 654	26		1	2.95	2.95
P51682	USB Drive 32GB 3.0 - NO RETURNS	27		1	19.95	19.95
P00497	Crow Country [Kate Constable]	28		1	17.99	17.99
	Cion Country [rate Constants]	20	_	'	11.00	17.55

ENRICHMENT - FOOTBALL

No Text Required

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	√ I Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$		
D=0.4=0	ENRICHMENT - ROTATIONAL		_					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	29		1	1.65	1.65		
	FOOD - SEMESTER 1 & SEMESTER 2 No text required.							
	FOOTBALL SPECIALIST No text required. Students are required to wear the college Footb	all uniform.						
	HEALTH EDUCATION Text to be supplied in class.							
	HUMANITIES AND SOCIAL SCIENCES							
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	30		2	2.15	4.30		
	HUMANITIES AND SOCIAL SCIENCES (HASS) - ENGAG	F FYTEND F	NRICH (F	FF)				
P55469	Display Book A4 20 Pocket Blue Non-Refillable	31		- -, 1	4.95	4.95		
	ITALIAN							
P65066	Display Book A4 Fixed 40 Pocket Navy Blue	32		1	6.95	6.95		
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	33		2	1.65	3.30		
	MATHEMATICS							
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	34		1	41.95	41.95		
	Do not purchase if you have the Calculator Sharp Scientific EL-531 fro	m last year. Th	e same calc	ulator is used	for Scien	ce.		
P55343	Compass Micador Self-Centering 140mm Safety #325	35		1	1.25	1.25		
P54143	Graph Book A4 96 Page 5mm Spirax #131	36		2	2.00	4.00		
P56353	Protractor 10 cm 180 4" Half Circle	37		1	0.45	0.45		
	MEDIA ARTS							
	Headphones: Students to supply own Studio Monitoring Headphones. To be retained for duration of program. Suggested Brands: Audio Technica, Yamaha, Behringer, Rolland (\$30+).							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	38		1	1.65	1.65		
P58543	Display Book A4 36 Pocket Insert Cover Black	39		1	13.95	13.95		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	40		1	14.05	14.05		
	MEDIA ARTS - GIFTED & TALENTED							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	41		3	1.65	4.95		
P58543	Display Book A4 36 Pocket Insert Cover Black	42	$\overline{\Box}$	1	13.95	13.95		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	43		1	14.05	14.05		
	ESSENTIAL Students to Supply: 1 x Portable SSD Hard Drive 1TB - TO BE RETAINED FOR THE DURATION OF THE PROGRAM. Suggested brands; WD Elements, Lacey (Not Panasonic) 1 x Studio Monitoring Headphones - TO BE RETAINED FOR THE DURATION OF THE PROGRAM. (Suggested brands; Audio Technica, Yamaha, Behringer, Rolland BYOD iPad Procreate app for iPad - \$14.99 Apple Pencil or substitute Adobe Creative Cloud software \$10 per year - to be purchased through JCCA Administration.							
	METAL TECHNOLOGY							
P50271	Pencil (HB) Goldfaber	44		2	0.65	1.30		
P51004	Pencils-Coloured 12's Triangular Box	45		1	4.60	4.60		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	46		1	14.05	14.05		

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MUSIC - GIFTED & TALENTED					
P55480	Document Wallet FC Polydoc Black	47		1	2.50	2.50
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	48		1	14.95	14.95
P50319	Eraser Staedtler 526B30	49		1	1.45	1.45
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	50		1	1.65	1.65
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	51		1	4.10	4.10
P50271	Pencil (HB) Goldfaber	52		1	0.65	0.65
P56243	Sharpener Pencil Metal Double Hole (HQ)	53		1	1.15	1.15
P58543	Display Book A4 36 Pocket Insert Cover Black Retain Display Book for following year.	54		1	13.95	13.95
	MUSIC					
P58543	Display Book A4 36 Pocket Insert Cover Black	55		1	13.95	13.95
	Retain Display Book for following year.	00		•	10.00	10.00
P55480	Document Wallet FC Polydoc Black	56		1	2.50	2.50
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	57		1	14.95	14.95
P50319	Eraser Staedtler 526B30	58		1	1.45	1.45
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	59		1	1.65	1.65
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	60	_	1	4.10	4.10
P50271	Pencil (HB) Goldfaber	61	$\overline{\Box}$	1	0.65	0.65
P56243	Sharpener Pencil Metal Double Hole (HQ)	62		1	1.15	1.15
	MUSIC THEATRE - GIFTED & TALENTED Students Require: Black leather character, jazz & tap shoes.					
P58543	Display Book A4 36 Pocket Insert Cover Black	63		1	13.95	13.95
	Retain Display Book for following year.	00		•	10.00	10.00
P50281	Document Envelope A4 PP With Press Stud Clear	64		1	1.25	1.25
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	65	<u> </u>	1	14.95	14.95
P50319	Eraser Staedtler 526B30	66	<u> </u>	1	1.45	1.45
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	67	_	1	1.65	1.65
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	68	$\overline{\Box}$	1	4.10	4.10
P50271	Pencil (HB) Goldfaber	69	$\overline{\Box}$	1	0.65	0.65
P56243	Sharpener Pencil Metal Double Hole (HQ)	70	$\overline{\Box}$	1	1.15	1.15
P52086	USB Pocket Flash Drive 32GB - NO RETURNS Retain for following year.	71		1	14.05	14.05
	PERFORMING ARTS					
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	72		1	1.25	1.25
	PHYSICAL EDUCATION No text required. Students are required to wear the college Physical I	Education	uniform.			
	SCIENCE					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	73		3	1.65	4.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	74		1	41.95	41.95
P56428	The same calculator is used for Mathematics. Retain for future years. Safety Glasses Clear Wrap Around	75		1	6.45	6.45
	TECHNICAL GRAPHICS		_			
P52086	Optional, but recommended: USB Pocket Flash Drive 32GB - NO RETURNS	76		1	14.05	14.05
	- OR - 500GB External Hard Drive (Parents to supply)	, 0	_	,		50

Please tick the items required in the box provided

√ı

Unit Item Item Qty Total Office Use Description Reqd Reqd Price \$ Amount \$ No. **TEXTILES - SEMESTER 1 & SEMESTER 2** Purchase the following sewing kit from the link shared here: https://www.textilesdirect.net/product/haberdashery-kit-with-bernina-bobbin/ Alternatively purchase similar items from a local haberdashery supplier – note the sewing machine bobbin must be specific to Bernina sewing machines. **VISUAL ARTS - GIFTED & TALENTED** P56081 Marker Artline #200 Black 0.4mm 77 1 3.80 3.80 P52001 Pencil (2B) Goldfaber 78 1 0.65 0.65 P50341 Pencils-Coloured 24's Faber Classic Colour 79 12.55 12.55 Retain from previous year. To be kept at home. WOODWORK P50271 Pencil (HB) Goldfaber 2 0.65 1.30 80 P51004 Pencils-Coloured 12's Triangular Box 81 1 4.60 4.60 P52086 USB Pocket Flash Drive 32GB - NO RETURNS 82 14.05 14.05 STUDENTS MAY REQUIRE THESE ADDITIONAL RESOURCES P52090 Binder Book A4 64 Page 8mm Premium with Margin Spirax 83 10 1.25 12.50 P55706 Dividers Index A4 10 Tab Manilla Bright Colours 84 2 2.25 4.50 P55480 Document Wallet FC Polydoc Black 85 1 2.50 2.50 P50319 Eraser Staedtler 526B30 86 1 1.45 1.45 P51353 Glue Stick 40gm Artline Purple 87 2.75 2.75 1 P50186 Highlighter Marker - Yellow 88 1 1.60 1.60 P55097 Lever Arch File A4 75mm Board 89 2 5.35 10.70 P56106 Pen Ballpoint Cap Type Black Med Staedtler 90 0.85 0.85 Pen Ballpoint Cap Type Blue Med Staedtler P56107 91 0.85 1 0.85 P56108 Pen Ballpoint Cap Type Red Med Staedtler 92 1 0.85 0.85 P56075 Pen Ballpoint Pilot Retractable BPGP-10M Black Med 2 93 4.60 9 20 P56215 Pencil Case 340x170mm Tartan Jumbo 94 1 3.25 3.25 P50271 Pencil (HB) Goldfaber 95 2 0.65 1.30 P50090 Ruler 300mm Wooden 96 1 1.10 1.10 P58507 Scissors 155mm Plastic Handle 97 2.95 2.95 Sharpener Pencil Metal Double Hole (HQ) 98 1.15 1.15 1 P53066 Tissues 2 Ply White Box 180 - (SUPPLIED TO SCHOOL) 99 1 3.90 3.90 P52086 14.05 14.05 USB Pocket Flash Drive 32GB - NO RETURNS 100 BYOD - Students are asked to bring a WiFi only, 128GB iPad capable of running iOS 14. For more details see the schools BYOD policy located at: jc.wa.edu.au/BYOD Students will have access to a complimentary JCCA digital diary in 2024. If your student would prefer a hard copy diary please purchase their preference. Number of Boxes ticked: Postage (Home delivery only) \$0.00 **ESTIMATED AMOUNT DUE** (PRICES CORRECT AT 24/11/23)